ﬂ ‘ ) @ bdn phén 6, s thap phan, thir t cac phép toan co
dau ngodc

Tén: Ngay thang: Piém:
1 1 - _
405+ 2)+2x3— = = S5x6+3+3(53+2)
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I 2 1 I 1
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dess

bbn phan s6, s6 thap phan, thi tu cac phép toan co

dau ngodc
Tén: Ngay thang: Diém:
1 1 319 9
425+ =) +2x3—==1 X + +2)= — 1—
(2.5 5) 3 3 6 5x6+3+3(5.3+2) 10 =3 10

499

3 1
G -5T) x4+ = ()= (-165)

11 197 17
S —4(=-29)= — =9—
3 Y5729 7 55 7 %%

107

12 1
10(= +5)+2x5— = = -2/
03+3)72737 5=~

(% —45)x5— — = (-21)

N =

=17

Nl

44+ 4(5+2.4) =34

1 91
D 10+5+3(59-32)= 2L gL
7 ( )=~ 10

11 18 3
15(=+ 2)+5x2—24= > =32
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